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| nstructions to the candidates:

1) Q.1 and Q.6 are compulsory.
2) Solve any 3 questions from Q.2 to Q.5.
3) Figures to the right indicate full marks.

4) Use of statistical tables and calculator is allowed.

Q1) Choosethe correct alternativein each of the following (any 10)[10 x 1 = 10]

a)

b)

d)

Theratio of births to the total deathsin ayear is called

) Vital index i)  Population death rate

i) Total fertility rate Iv) survival rate

Invital statisticsif N.R.R. per women is0.3394 the it means.

I)  Populationisincreasing i)  Populationisdecreasing
iil)  Population is constant Iv) cannot say

Normally alifetablesisconstructed for an age interval.

)  fiveyears i) fivetotenyears

iif) -~ oneyear Iv) tenyears

The multiple correlation coefficient lies between.
) -1to+l i) Otol
i) —oo to +o0 Iv) Otoow

In trivariate study the correlation coefficient between any two
variableswhen thethird variable held constant iscalled as

) simplecorrelation i) partial correlation
i) multiplecorrelation IvV) multipleregression

PT.O.



f)  With two attributes the total number of ultimate class frequency is
)  four i)  two
i) sx Iv) three

g) Thesurviva factor mti invital statisticslies between
) -1lto+1 i) -1to0
i) Otol iv) 0to 100

h) Total Fertility Rate (TFR) isgiven for per:
) 1000 women
i) 1000 reproductive age women
i) 10000 women
Iv) 10000 reproductive age women

) Lifetablesare prepared for
)  Animas i) Humans
i)  Bothi)andii) Iv) None of above

])  Thepartia correlation coefficient lies between
) —-1lto+l i) Otol
i) —-1to0 V) —o0 to +o0

k) GivenA=150, (B) =180, (AB) =50, (AB) =100 N =270 then class
frequency (af3) is equal to
) 80 i) 90
i) 40 iv) 120

) GivenT =48, | ,=39then expectation of lifeat age 68 [€° ] is
equal to
) 1.23076 i) 0.8125
)  12.3076 iv) 9

Q2) Attempt each of the following. [5 Each]

a Calculate coefficient of association between A and B. Given N = 100,
(A) =47 (B) =62, (AB) = 32.

b) Test whether the attributes A and B are independent, given that (AB) =
10, (AB) = 30, (ap) = 120, (o) = 40.

c) Distinguish between avariable and an attribute.
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Q3) Attempt each of thefollowing. [5 Each]
a8 Givenr,=08,r,=-056,r,=-04findr,,andR_,..

' 23 ' 13
b) In trivariate data the total correlation coefficients are r, = 0.7,

r,, = 0.9, r, =-0.8. Are these values consistent?

c) Explain the concept of multiple correlations in case of trivariate
data. Also state the expression for multiple correlation coefficient
R, ,; interms of total correlation coefficientr,, r, andr_..

12’
Q4) Attempt each of thefollowing. [5 Each]

a Compute the CDR and STDR for two populations A and B taking
populations A as standard population.

Agegroup A B
populations Deaths | Population | Deaths
Under 10 5000 160 6000 150
10-20 7000 140 9000 180
20-40 9000 180 8000 160
40 and above 8000 150 6000 80
b) Compute

)  crudebirth-rate (CBR)
i)  Grossfertility rate (GFR)
i) Agespecificfertility rate (ASFR) for the following data:

Age group Number of women Number of births
15-19 24000 800
20-24 20000 2400
25-29 15000 2000
30-34 12000 600
35-39 6000 120
40-44 4000 10

C) Distinguish between GR.R. and N.R.R.
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a)

Q5) Attempt each of the following. [5 Each]
Completethelifetablesgiven below.
Age 1, d, P, d, L, T, e’
(inyears)
4 95,000 | 500 ? ? ? 14850,300| ?
5 ? 400 ? ? ? ? ?

b)

c)

Given thefollowing tablefor 1 , the number of

X

0

1

2

3

4

5

6

1

X

100

0

80

75

60

30

0

rabbitsliving at age x,

X,Y, Z arethethreerabbitsof age 1, 2 and 3 years respectively. Find the
probability that at east one of them will be alive for one year more.

Describelifetablein detall.

Q6) Write ashort note on following (any 3)of thefollowing.

a)
b)
C)
d)

€)

Census method of collecting vital statistics

Order of class

Application of multiple correlation coefficient

Expectation of life

Crude death rate (CDR).
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